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Sample Paper – 2012
Class – XII
Subject –Chemistry

Time-3 hrs          


                                                                                                                                                               M.M- 70

------------------------------------------------------------------------------------------------------------------GENERAL INSTRUCTIONS:
  1 All questions are compulsory.                                                      

 2.Question number 1 to 8 carry 1 mark each

 3.Question number  9 to 18 2 marks each 

 4.Questions number 19 to 27 carry 3 marks each.

 5.Question number 28 to 30 5 marks.

1. Name one metal oxide which is like metallic cooper in its conductivity and appearance.
2. What role does the molecular interaction play in a solution of alcohol and water?

3. Chemisorption is irreversible but physiosorption is reversible in nature. Why?

4. Why is froth floatation process selected for concentration of sulphide ore?

5. When HCl reacts with finely powdered iron, it forms ferrous chloride and not ferric chloride. Why?

6. Write the composition of bleaching powder.

7. Write IUPAC name of following

CH3C(p-Cl C6H4)2CHBrCH3
8. Out of benzaldehyde and propanal, which one is more reactive towards nucleophilic addition reactions? And Why?

9.  Calculate freezing point depression expected for 0.0711 m aqueous solution of Na2SO4.If this solution actually freezes at -0.320oC,what will be the value of Van't Hoff factor?(Kf for water =1.86okm-1)
10. Which colligative property is widely used to determine molar masses of macromolecular colloids? Give reasons?

11.  The rate law equation for the following reaction 

             2H2O2-----I-/Alkaline medium------> 2H2O2+O2
IS RATE = -d{H2O2}/dt = k[H2O2][I-]

12.  The graphite electrodes in the extraction of Al by "Hall-Heroult" process need to be changed frequently .Why?

13. How are the following preparations carried out?

   [i] Salicylic acid from phenol

   [ii] 2-Methylbutane-2-ol from prpane-2-one

14. Write the mechanism of the following reaction:
       Acid catalyzed dehydration of alcohol forming an alkenes
15.  Arrange the following in decreasing order of basic strength

      C6H5NH2, C2H5NH2, (C2H5)2NH2, (C2H5)3NH2
  (A) in a gas 

  (B) in aqueous phase

16. Give simple chemical tests to distinguish between the following pairs of compounds-

  (i) Aniline and N-methyl aniline 

  (ii) Ethanol and Ethylamine

17. Differentiate between -

  (a) Globular and Fibrous Proteins

  (b) Basic structural unit in starch and cellulose

18. Explain the following :

  (a) Denaturation of proteins

  (b) Mutation in DNA

19. An element 'X' with atomic mass 60gm/mol has a density of 6.23 g/cm-3.If the edge length of the unit-cell is 400pm ,identify the type of the cubic unit cell. Calculate the radius of the atom of the element.
20. (a)Define the term pseudo first order reaction with one example.

       (b) The rate constants of a reaction at 500K and 700K are 0.02/sec and 0.07/sec respectively. Calculate the values Ea and A.

21. Explain the following :

   (i) Electro osmosis 

   (ii) Peptization

   (iii) Zeta potential

22. Draw the structures of 

   (i) Perchloric acid

   (ii) XeF6
   (iii) Red phosphorous
23. What happens when 

   (a) Concentrated H2SO4 is added to calcium fluoride
   (b) Moist SO2 is treated with acidified potassium permanganate solution.

   (c) XeF6 is hydrolyzed. Is it a red ox reaction?

24. (a) Write the IUPAC name of the compound [PtCl(NH2CH3)(NH3)2]Cl
      (b) A metal complex having composition Cr(NH3)4Cl2Br has been isolated in two forms 'A' and 'B'. The         form 'A' reacts with AgNO3 to give a white precipitate readily soluble in dilute aqueous ammonia whereas B gives a pale yellow precipitate soluble in concentrate ammonia. Write the formula of A and B and state the hybridization of chromium in each. Calculate their  magnetic moments by spain only formula.

25. Explain the following :

   (a) Although haloalkanes are polar in character yet they are insoluble in water.

   (b) Chloroform is chlorine compound but it fails to react with AgNO3 solution.
   (c) Out of C6H5CH2Cl and C6H5CHClC6H5 which is more easily hydrolysed by aqueous KOH and Why?
26. (a) What is the difference in structural repeating units of Nylon-6 and Nylon-66?

      (b) Write the difference between low density polythene and high density polythene?
27. Answer the following :

    (a) What are cationic detergents? Give one example .

    (b) Why is the use of aspartame limited to cold drinks and foods.

    (c) How do antiseptics differ from disinfectants? Give single exam for both.

28. (a) Ecell is an intensive parameter but ∆Gr is an extensive thermodynamic property. Justify it.

       (b) Represent the cell in which the following reaction takes place.

                Mg + 2Ag (0.0001M) ------------> Mg+2 (0.0130M) + 2Ag 
Calculate the Ecell value if EoMg+2/Mg = -2.36V  and EoAg+/Ag=0.80V

29. Describe the following reactions with one example each :

   (a) Hell-Volhard Zelinsky reaction

   (b) Aldol Condensation

   (c) An organic compound A with molecular formula C6H16O2 was hydrolysed with dilute sulphuric and to give a carboxylic acid an alcohol C. Oxidation of C with chromic acid produced B. C on dehydration gives but-1-ene. Write equations for the reactions involved.
30.(a) Name the following :-
          (i) Divalent ion of first transition series having maximum magnetic moment.

          (ii) Colored ion out of Zn+2 ion or Cu+2 ion .Why

          (iii) Most common form of oxo-anion of chromium in basic solution.

     (b) Write two consequences of Lanthanide contraction.

     (c) Write the preparation of KMnO4 from pyrolusite.
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